professional

Specifications SOLAR

products 5‘"& E

DRILL GUIDE

PART #FMJ-DRILL

Optional drill guide available with hardened drill guide bushing.
Using the drill guide insures the installer will create a perfectly
straight pilot hole into the rafter or siructural member greatly
enhancing strength.

Test Data Available

Pull tested by an independent and accredited 1CC approved fest-
ing laboratory to 2,870 Ibs vertical and 2,615 axial (side) pull.
Test conducted with a 3/8" x 6" lag bolt in a 4” x 6" Douglas
Fir wood beam. Test report available upon purchase.

Measurements / Specifications
BASE: 1.5" dio. x 2.6" #6061 Aluminum
* 1/4" hole for self tapping-screw base
* 3/8" hole for lag bolt base
POSTS: 1" dia. x 3" #6061 Aluminum
o 3/8" drilled & tapped (non-leveling version)
* 1/2" threaded 2" deep (leveling version)

IN.S.'I'AL'I'ION FOR LEVELING KIT VERSION - EXPLODED VIEW

1/2”" SS Hex Nut

(included in leveling kit Strut (not supplied by ProSolar)

2-1/2” x 12 gauge E-series illustrated

HARDWARE: Red Plastic caps included - installer to supply ap-
propriate fasteners. Leveling kits are available upon request

LEVELING KIT: leveling kit components
1/2" x 4" Stainless Steel all-thread (gty. 1)
1/2" Stainless Steel hex nuts (qty. 3)
1/2" Stainless Steel flat washers (qty. 2)
2" x 3" Anodized aluminum strut support (gty. 1)

Clear anodized Strut Support

(included in leveling kit) 1/2” SS Flat washers

(included in leveling kit)

INSTALLATION FOR NON-LEVELING VERSION
EXPLODED VIEW

g 3/8” x 3/4” SS Hex bolt

3/8”" SS Flat Washer
‘ (not included)
@ y

AN

1/2” SS Hex Nut
(included in leveling kit)

1/2” x 4 SS All Thread
(included in leveling kit)

1-1/2” Clear Anodized
Support Rail (for the
Roof Trac® System)

<«——a 3/8” x 6 Lag Bolt
17 x 3” Post

(/2 Threads illustrated

Foam Jack to accept leveling kit)

1 x 3 Post
(3/8” Threaded)
1-1/2” Round Lag base
(self tapping version
also available)

1-1/2” round Lag Base
(Self tapping screw
version also available)





